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ng and Dividing Po 2rs of Ten

Solve each problem.
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19)

1,190 + 10°

6,800 + 10°

20,000 + 10

600,000 + 10°

1,280,000 + 10°

20,000 + 10°

28,200,000 + 10°

692,000 + 10°

130,000 + 10°

293,000+ 10°

4)

8)

)

14)

16)

18)

20) -

560,000 + 107

I+ 10*

*noo + 10*

1000 + 10°

0+ 10°

0+ 10"

~ 000 + 107

7,600+ 10°

.I...I.] - ]_UI

0,000 + 10°

Unit 5, Station 1, Round 3,

Task 8




ﬁ?-, Multiplying and Dividin: Po° s o Ten Unit 5, Station l- Round 3'

Solve each problem. Task 3
. — - w
5.47 x 10" . 2.36 + 10°
This is the same as saving: !"vision is the same way. Only L
547 x (10 x [0 x 10 x 10) r1:tead of moving the decimal
And because the base is 10 you can right, you move it left. >
just move the decimal 4 places to 0236 '
the right to solve. Nt
54700 Y ou can also multiply a negative 3,
A ¢ ponent, which means the same
thing.
| 5.47 % 10° = 54,700 2.36 % 107 =236 + 10° 4.
5.
1) 46.278 + 107 x ‘
6.
3) 2579+ 10° Yy 7 14+ 1p? N
: 8.
5) 6.722+10° { Ji+
9.
39.7+10° |
D 10.
9) 564.48 + 10’ 1) 8T =
12,
11) 3296+ 10° 1y Y79+ 10!
13,
13) 2532+ 10° LU 1+ 10 14.
15.
15) 61.6+ 10 Iy 2 e’ ‘
16.
17) 5824+ 10" 1y G 1) e it 17.
18,
19) 989.94 + 10" \ &1 G4 1)
19,




